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QUESTION 1

What would be used to combine multiple switches into a single management platform?
A. redundant trunk groups

B. Virtual Chassis

C. graceful Routing Engine switchover

D. Virtual Router Redundancy Protocol

Correct Answer: B

Many Juniper Networks EX Series switches support the Virtual Chassis flexible, scaling switch solution. You can
connect individual switches together to form one unit and manage the unit as a single chassis.

QUESTION 2

You have deployed a Juniper EX Series switch in the network. The switch receives a broadcast frame on
an interface.

Which statement describes the behavior of the switch?

A. The frame is flooded out all ports that are part of the same VLAN as the receiving port, except for the port on which
the frame was received.

B. The frame is flooded out all ports in all VLANs configured on the switch.
C. The frame is re-transmitted as a multicast frame on all ports on the switch.

D. The frame is flooded out all ports that are part of the same VLAN as the receiving port, including the port on which
the frame was received.

Correct Answer: A

QUESTION 3

Click the Exhibit button. Referring to the exhibit, what does the asterisk (*) indicate?

0x80000001 10 0Ox22 0x4459 32

A. The router received this entry.
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B. This entry is stale.

C. This entry is new.

D. The router originated this entry.

Correct Answer: C

The asterisk (*) next to one of the block entries corresponds to the active route that is used for new traffic. The term

\\'new traffic\\' corresponds to a single packet or an entire flow to a destination, depending on the type of switching
configured.

QUESTION 4

Click to the Exhibit button. Referring to the exhibit, which router will become the BDR if all routers are powered on at the
same time?

R1 R3
Priority: O Priority: 128
RID: 10.10.10.1 RID: 10.10.10.3

B &

P> P>

R2 R4
Priority: 100 Priority: 128
RID: 10.10.10.2 RID: 10.10.10.4
A.R3
B.R2
C.R1
D.R4

Correct Answer: A

In LANSs, the election of the designated router takes place when the OSPF network is initially established. When the first
OSPF links are active, the routing device with the highest router identifier (defined by the router-id configuration value,
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which is typically the IP address of the routing device, or the loopback address) is elected the designated router. The
routing device with the second highest router identifier is elected the backup designated router.

QUESTION 5

Click the Exhibit button.

[edit protocols ospf]
uaerfhoscé show
area 0.0.0.3 |
interface ge=0/0/1.0;
}
area 0.0.0.1 |
ns3a |
default-l1sa
default-metric 17:;
type-=7;
}

no-summaries;

What will be two results of the OSPF configuration shown in the exhibit? (Choose two.)
A. A default route will be advertised into Area 1 as a Type 7 LSA.

B. Area 0 will not generate summary LSAs for networks in Area 1.

C. There will be no Type 3 LSAs in Area 1.
D. Only Type 7 LSAs will be present in Area 1.

Correct Answer: AB
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